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Q.

1. There is a need for soil conservation for fighting hunger in future.

2. The present assessment of the soil does not provide sufficient information for the
conservation of land.

3. Soil conservation solutions of China mayor may not be applied in African or
American countries, and vice-versa.

Which of the above assumptions is/are valid?

a. land2only b. 2only

c. land3only d. 1,2and 3 only

Dirt cheap

a. Extremely cheap b. Extremely costly

¢. Verv cheap person d. Very cheap item

A shrinking violet

a. A lean person b. A shy person

¢. Ahappy person d. A sad person

Fall in a heap

a. To be al the mercy of someone else b. To be thinking about someone

¢. Tolose control of one’s own feelings d. To be in control of one’s own feelings

In this Section, a number of sentences are given, The sentences are underlined in
three separate parts. Read each sentence to find out whether there is an error in any
underlined part. No sentence has more than one error. When vou find an error in any
one of the underlined parts (a), (b) or (¢), indicale vour response on the separate
Answer Sheetat the appropriate space. You may feel that there is no error ina
sentence. In that case letter (d) will dignify a ‘No error’ response.

a. Lwent to his house bul b. couldn’t sce him

¢ because he went out before Larrived.  d. No error.

In this Section, a number of sentences are given. The sentences are underlined in
three separate parts. Read each sentence to find out whether there is an error in any
underlined part. No sentence has more than one error. When vou find an error in any
one of the underlined parts (a), (b) or (¢), indicate your response on the separate
Answer Sheet at the appropriate space. You may feel that there is no error in a
sentence. In that case letter (d) will dignify a ‘No error’ response.

2. When | shall see him, b, Lwill tell him that

¢, What he has done is wrong, d. Noerror.

LOFLY (antonvm)
A Mean b. Glorious
. Envious d. Devilish

In the following questions, cach passage consists of six sentences. The first sentence
(51) and the tinal sentence (56) are given in the beginning. The middle four sentences
w each have been removed and jumbled up. These are labelled P, Q R and S. You are
required Lo find out the proper sequence of the four sentences and mark accordingly
on the Answer Sheet.
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S1 - Both Rattan and his son Moti were idlers and did not like to do any work.
S6 : In fact, they prided themselves on their inactivity and-idleness.

P : The result was that their idleness increased all the more.

Q : His wife had introduced order and industry in the house.

R : Rattan’s wife had died long ago, Moti had married inthe preceding year.

S : She would work herself to death and earn the daily feed for both of them.
Which one of the following is the correct sequence?

a. SPRQ b. SQRP

c. RQSP d. RPSQ

. S1: A hundred metres further along the trail Mahesh and Rohini stopped short.

S6 : But now mother bear-perhaps the same grizzly bear could be just over the ridge
obscured by the bushes.

P : They had shouted and waved and watched through binoculars as the mother bear
reared up and roared at them.

Q: Two bear cubs were playing in the creek gully about20 metres to their right.

R : They had enjoyed the roaring of the mother bear as a distance of a Kilometre and a
half separated them.

S : The day before, they had seen a mother bear and two cubs.

Which one of the following is the correct sequence?

a. RPSQ b. QSPR

c. RSPQ d. QPSR
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